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d=63.3cm ° R 3% 4 :}’thﬁ 5% B =280 kgflem® > 44 4 55 "5 K3 B £,=4200 kgf/em® o — £ D294%
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A, =4(6.47)=25.88 cm’

Xp = 0.6d = 0.6(63.3) = 37.98 cm

Ay = 0.85F(Bixp)b / f, = 0.85%(280)(37.98)(35) / 4200 = 64.03 cm’ > A, #irHi[#
(2)7K 717 FHr

A f,=0.850.ab

25.88(4200) = 0.85(280)(35a)

2 a=13.05cm

x=13.05/0.85=15.35cm

X0.00s = (3/8)d = 23.7375 cm > x H 6 =0.9

(3)6M, = 0.9(25.88)(4.2)(63.3-0.5%13.05) /100 = 55.54 tf-m

B TR LA SRt TR s o B
B,F i A d=53.6 cm,fie EDI0O@1I5 cmF £ 4B
T4 4m 5578 1R 55 £,=2800 kgflem® - D104k 5 2
Bt w4V, (258)
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(1) Vimin=max [ 3.5b,d » 0.2,/f/b,d )
0.2 =0.24280=3.35 <35
&Vs,mm: 3.5x30x53.6 = 5628 kgf

f.d
2) V.= vly =2X0'71X145200X53'6=14207.6kgf > Vomin
S

V. =0.53/f/b, d = 0.534/280(30)(53.6) =14260.7 kgf
RSB 1IV,=0.75(14260.7+14207.6) = 21351 2 kgf = 21.351 tf




